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Unit 1

Introduction to Retirement Planning

1. Which of the following issues are to be considered while planning for a client belonging to 40’s to
50’s age group?

1. Time to be spent in retirement.

2. Planning to work part time or be self employed

3. Acquiring sufficient wealth to retire

4. Using present assets to acquire an income stream during retirement

A. 2,3,and 4
B. 2,1and 4
C. 1,2,3and 4
D. 1,4and3

2. Amit deposited Rs. 15,000 @ 9% p.a. in a bank fixed deposit maturing in 6 years. Calculate the
amount that will be available to Amit at maturity?

Rs. 24156

Rs. 25156

Rs. 25462

Rs. 21456

ooy

3. Which of the following is the basic purpose of retirement planning?
A. To arrange an income
B. To provide an effective cash flow during retirement
C. To maximize cash flow
D. All of the above

4. Advanced in the medical science and the life expectancy are considered as a -
A. Causes of decline of joint family system
B. Causes of increasing the financial burden of people
C. Both the statements are true
D. Both the Statements are false

5. Which of the following post retirement problems are to be considered in retirement planning?
A. Adequate resources for emergency
B. Income provision through regular funding
C. Readjustment of self or family expenses
D. All of the above

6. Arrange the following steps of advising a client on retirement planning in a chronological order
1. Calculate the saving required

2. Analyze retirement benefits currently available

3. Choose appropriate investment mix

4. Goal setting and date gathering

A 3,2,41
B. 4,2,1,3,
C. 2,413
D. 1,2,4,3
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15. To sustain in retirement life an individual should accumulate his wealth during his
A. Retirement life
B. Life cycles
C. Working life
D. Any of the above

16. How can person live comfortably after retirement?
A. By reducing the standard of living after retirement
B. By choosing an opportunity line in working years and save more
C. By increasing average annual rate of saving rate of saving during working years
D. None of the Above

17. Career stability is important for retirement planning because
A. It helps to ascertain surplus earning during the working period
B. It helps to anticipate a possible date of retirement
C. It helps to go for long term systematic saving
D. All of the above

18. Retirement planning should only focus on the needs of an individual in his retirement years. The
above statement is

A. True

B. False

19. Mr. Amit is working in a reputed company and spends now Rs. 2,30,000 p.a for his house hold
expenses to maintain his standard of living. If excepted inflation rate is 2% p.a and standard of living is
increased by 1% every year, after 15 years what will be his house hold expenses?

Rs. 4,45,987

Rs. 5,89,765

Rs. 3,58,333

Rs. 5,50,000

oo

20. A retired generally needs of their pre retirement income to sustain their desired lifestyle.
A. 25%- 45%
B. 50% -75%
C. 95%

D. 100%

21. Pre-retirement counseling in retirement planning
A. Helps a planner to know the facts about his clients
B. Provides direction to retirement planning
C. BothA&B
D. None of the above

22. Why do the young do not realize the need for starting a retirement plan early in their working life?
A. They are of the view that the current employee benefits are sufficient for a decent retired life
B. They are becoming more obsessed with their current needs and improvement in their present
standard of living.
C. They are not aware of its necessity and severity
D. None of the above

23. Which of the following are the factors to be considered at the time of retirement planning?
1. Taxation
2. Retirement are and life expectancy
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3. Improving the working environment of the client
4. Health care and emergency requirements

A 1,23, and4
B. 2,4,and 3
C. 1,2, and4
D. 1and 2

24. A Financial planner should never under estimate the post retirement expenses of his clients.

above statement is
A. True
B. False

25. The word ‘strategy’ refersto_
A. Planned efforts to be made to reach any one of the objectives that may be achieved
B. planned efforts to be made without any objective
C. Planned efforts to be made to reach the predetermined objective
D. None of the above

26. Which of the following are types of Retirement security plan?
1. Government Retirement Security plans

2. Occupational Retirement Security plans

3. Self funded Retirement Security plans

4. Environment Retirement Security plans

>

land 4
B. 1,2,3, and4
C. 3and 4
D. 1,2,and 3
27. Which of the following factors are to be considered in the process of retirement planning?
A. Taxation
B. Standard of living and life expectancy
C. Investment and Inflation
D. All of the above

The

28. Which of the following step basically means analyzing the existing retirement plans and improving

on them to achieve the desired objective?
A. Economic approach
B. Strategic Asset Allocation
C. Tactical Asset allocation
D. None of the above

29. Which of the following characteristics of the growing up stage in the life cycle of an individual?
1) Enhancing skills

2) Dependence on spouse

3) Acquiring education

3,2 and 1
1and 3
3and?2
2and 1

oow>
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109. Past inflation is an accurate and exact indicator of future inflation.
A. True
B. False
C. Can'tsay
D. All of the above

110. If there is inflation affecting a certain expense then that expense figure today will
by the time of retirement

Rise

Fall

Can't say

All of the above

oW

111. Inflation can be tackled by
A. Making additional savings to boost income
B. Looking at stocks to boost returns
C. Ensuring a change in the asset allocation
D. All of the above

112. Early retirement will not always .
A. Increase the time period of earnings
B. Leave more time after retirement
C. Decrease the time period of earnings
D. Make more money available for retirement

113. Late retirement pushes the position of a person on the accumulation and spending curve towards

More accumulation
Less accumulation
Remains constant

Moves downwards

oo

114. A windfall gain in an area of business might lead to
A. Normal retirement
B. Early retirement
C. Late retirement
D. None of the above

115. Late retirement will lead to a cash flow from current activities for a
Longer period of time

Lesser period of time

Same as earlier

All of the above

oo

116. A 60% replacement ratio will mean:
A. A significant part of the pre-retirement earnings will have to be generated
B. The entire pre-retirement earnings will have to generated
C. A sum more than half of the preretirement earnings will have to be generated
D. None of the above

117. Late retirement means income coming in for a
A. Lesser period of time
B. Longer period of time
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C. Same as before
D. None of the above

119. Mr. Amit has a net worth of Rs. 2, 00,000 at the beginning of the Financial Year

2006-2007. The following transactions occurred during the Financial Year 2006-2007 with respect to his
account. 1. Paid off credit card liability worth Rs. 10,000 using savings account 2. Transferred Rs.
4,000 from savings account to PPF account 3. Purchased Rs. 2,000 of furniture with credit. What is the
net worth of Naveen after these transactions?

| am not attempting

Rs 198000

Rs 200000

Rs 184000

oW
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Answer Sheet Unit-1

1 C 32 D 63 A 94 A
2 C 33 D 64 B 95 B
3 B 34 A 65 C 96 B
4 B 35 B 66 A 97 A
5 D 36 B 67 A 98 A
6 B 37 B 68 A 99 D
7 B 38 A 69 D 100 B
8 C 39 C 70 D 101 C
9 D 40 D 71 A 102 D
10 B 41 C 72 B 103 A
11 C 42 B 73 A 104 C
12 D 43 C 74 D 105 B
13 C 44 B 75 D 106 D
14 D 45 C 76 C 107 C
15 C 46 B 77 C 108 B
16 C 47 D 78 B 109 B
17 D 48 C 79 C 110 A
18 B 49 A 80 A 111 D
19 C 50 C 81 A 112 D
20 B 51 D 82 A 113 A
21 C 52 D 83 B 114 B
22 B 53 B 84 D 115 A
23 C 54 A 85 D 116 C
24 A 55 C 86 A 117 B
25 C 56 B 87 C 118 C
26 B 57 C 88 A 119 C
27 D 58 B 89 C

28 C 59 D 90 D

29 B 60 B 91 A

30 B 61 B 92 D

31 A 62 D 93 C
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Unit 2

Retirement Benefits

120. Statement which of the following statement is true:

Statement 1: In India, an employee’s group insurance coverage terminates immediately as he leaves
the job of the employer who has provided such benefit.

Statement 2: The group cover enjoyed by an employee can be converted in to individual policy, without
undergoing any medical test, by sending an application to the insurer and paying the premium in 31
days.

A. Statement 1 is true

B. Statement 2 is true

C. Both the statements are false

D. Both the statements are true

121. A group plan individual plans.
A. is expensive than
B. is cheaper than
C. costs the same as
D. none of the above

122. Group plans coverage amount is decided by the
A. Individual
B. Group leader
C. Group scheme
D. Each person taking the group plan

123. Premium of group plans
A. are constant for a lot of year
B. change each year depending upon group characteristics
C. will decrease each year
D. will increase each year

124. A plan in which the entire company is covered by an insurance plan is an example of
A. Term Insurance
B. Money back insurance
C. Group Insurance
D. Whole life insurance

125. "Wealth Erosion" occurs on account of
A. Increase in expenditure
B. Accumulated debts
C. Losses incurred
D. Growth rate is less than Inflation rate

126. A defined benefit plan provides for:

Lump sum cash payment on retirement only

Periodical income after retirement

Either a lump sum payment or periodical payments or a combination of both depending

Either a lump sum payment or periodical payments or a combination of both depending upon
the pre-fixed formula of benefits.

oow>
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127. The exact share of the assets belonging to each member of the fund is easily calculated in case
of:

Defined benefit schemes offering lump sum payments on retirement

Defined contribution scheme offering regular income after retirement

Defined benefit schemes offering regular income after retirement

Both the types of plans as there is no difference in asset allocation

o0w»

128. Contributions under a defined benefit plan:
A. Will be fixed in relation to the wages earned
B. Will be determined based on the benefits assured
C. Will remain unaltered once fixed
D. Will be decided by the members of the benefit scheme

258 The defined benefit system:
A. is increasing in popularity across countries
B. is being changed by governments because of non sustainability
C. has remained the same
D. All of the above

259 Group schemes have to be regularly
Completed

Closed

Renewed

Used

oo

260 If a person receives gratuity and commuted pension then of the commuted amount of
pension is tax free.

A. One third

B. Half

C. Full

D. One fourth

261 A person will earn a sum of Rs. 22 lakh in the next year. Out of this 30% of the income is tax free
and the remaining sum will have a tax rate of 30% without any cess what is the tax amount?

Rs. 462000

Rs. 562000

Rs. 662000

Rs. 762000

oo

262 A person earns a gross income of Rs. 2 lakh a month since the middle of June. If the tax rate is
25% on the total amount then what will the person end up with at the end of the financial year assuming
there are no other deductions or exemptions.

Rs. 1000000
Rs. 1250000
Rs. 1425000
Rs. 1500000

oo

263 A person earns Rs. 10 lakh from salary and Rs. 10 lakh from long term capital gains. The net
income is higher in case of
A. Salary income
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B. Capital gains income
C. Both are the same
D. All of the above

264 As per the “Payment of Gratuity Act 1972”, Ms. Vrushali, during her working career with M/s
Hindustan Lever Ltd. Received Rs. 2,70,000 as Gratuity in Dec'2005.

Later on in March 2007, during her working career with M/s Nirma Ltd., she received

Rs. 3,32,000 as Gratuity. She is now concerned about the provisions of "The

Income Tax Act, 1961" with regard to its receipt. As a Financial Planner address her concern and
provide an appropriate advise with reference to I.T Act, 1961 for IT AY 2007-08 governing IT PY 2006-
07

Rs. 3,32,000 is fully exempt u/s 10(10) of the I.T.Act, 1961

Rs. 2,52,000 is Taxable as Income From Salary

Rs. 3,02,000 is Taxable as Income From Salary

No more exemption since exemption u/s 10(10) can be availed only once

oow»

265 Mr. Amit aged 58 years, had retired from M/s Khaitan Fans Ltd. (service of 33 years). He was
receiving Rs. 10,000 per month as pension from M/s Khaitan (Defined Benefit), But due to his sad
demise in March'2006, as per the provisions of the Company Pension Rules, his spouse Ms. Amita is
now in receipt of 75% of the said pension w.e.f April '2006. She is now concerned about the provisions
of "The Income Tax Act, 1961" with regard to its receipt in her hands. As a Financial Planner address
her concern and provide an appropriate advise with reference to I.T Act, 1961 for ITAY 2007-08
governing ITPY 2006-07 (Note:- Ignore Basic Exemptions Limit)
A. Full Rs. 90,000 is taxable as Income from Salary
B. Full Rs. 90,000 is taxable as Income from Other Sources
C. Full Rs. 90,000 is taxable as Income from Salary but a Standard Deduction
of Rs.15,000 or 1/3 of the amount received whichever is lower will be allowed
D. Full Rs. 90,000 is taxable as Income from Other Sources but a Standard Deduction of
Rs.15,000 or 1/3 of the amount received whichever is lower will be allowed

307 The subscription paid into the PPF account enjoys the tax benefit of:
A. Section 80C
B. Section 10
C. Section 80CCC
D. Section 80 D

308 A scheme providing pension benefits as per Income Tax provisions is called
A. Superannuation Scheme
B. Retirement Scheme
C. Pension Scheme
D. Retirement Income Scheme

309 When government authority accords approval to such a scheme providing pensionary benefits to
the employees?

A. Ministry of Finance

B. Ministry of Labour

C. PF Authorities

D. Income tax Department

Q 310 What is the maximum amount of tax free commuted pension as per Rule 90 of the Income Tax
Rules?
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40% of the pension

One half of the pension if the employee gets gratuity, otherwise one third of the pensions
One third of the pension

One half of the pension

oOow»

311 Who is authorized to pay pension under such a scheme to the eligible employees on their exit from
service?

The trustees themselves

B. The employer after taking withdrawals from the trust

C. The Trustees of certain specified banks and any IRDA approved Life insurer to whom the
D

>

trustees pay the amount for purchase of the desired annuity
. The Pension Authority

312 The type of Annuity to be purchased from a life insurer can be any one of the following
A. Annuity for single or joint life with or without guarantee of minimum period and/or return of
corpus decided by the employer/beneficiary
B. Annuity Certain for any period as decided by the employees
C. Annuity Certain for 15 years
D. Any type of annuity as decided by the employer

313 Is pension a statutory a benefit in India and if so, for which segment of employees?
A. All employees working in any sector
B. All government employees
C. All employees covered under the EPF and Miscellaneous Provisions Act, 1952
D. All government and public sector employees

434. The minimum amount of deposit in a PPF account each yearis .
A. Rs. 100
B. Rs. 300
C. Rs. 500
D. Rs. 1000

435. The maximum benefit it available for investment in PPF under Section 80C of the Income tax is
o Rs. 60000

Rs. 70000

Rs. 75000

Rs. 100000

oo

436 The PPF account can be extended __ number of times.
A 1
B. 3
C. 5
D. Unlimited

437 An investment in the PPF account can be made through ____
A. Cash
B. Cheque
C. Draft
D. All of the above
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438 A nomination once made in the PPF account .
A. cannot be cancelled
B. can be cancelled
C. cannot be varied
D. None of the above

439 The rate of return on PPF is currently .
A. 8%
B. 8.5%
C. 9%
D. None of the above

440. The interest in a PPF account is compounded
A. Annually
B. Monthly
C. Quarterly
D. None of the above

441 Under the EEE system thereis .
A. No tax to be paid
B. Some tax to be paid
C. Tax on certain instruments
D. Tax at the time of return of funds

442 Under the EET system there is :
A. No tax to be paid
B. Some tax to be paid
C. Tax on certain instruments
D. Tax at the time of return of funds

443 The following is not a defined contribution plan
A. Employees Provident Fund scheme
B. Employees Pension scheme
C. Public Provident Fund
D. None of the above

444 If there is a lesser earning for defined contribution schemes then
A. the employer gets a lower amount.
B. the employee makes up the shortfall.
C. the employee enjoys a lower benefit.
D. the scheme guarantees the payment

445 A provident fund is recognized when it is approved by the
A. Commissioner of Income Tax
B. Provident Fund Commissioner
C. Commissioner of Sales Tax
D. None of the above

446 Section 80C benefit is not available to employee's contribution in
A. Statutory provident fund
B. Recognised provident fund
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C. Unrecognised provident fund
D. Public provident fund

447 Mr Hansraj joins a private limited company covered under the PF Act. The employer contributes
for all the employees only up to the specified salary limit. His monthly salary consists of Rs.10,000 as
basic, Rs.5,000 as DA and 10% of the basic as HRA, calculate the EPS contribution:

A. Rs. 1250

B. Rs. 541

C. Rs. 833

D. Rs. 1241

448. A scheme providing pension benefits as per Income Tax provisions is called:
A. Superannuation Scheme
B. Retirement Scheme
C. Retirement Income Scheme
D. Pension Scheme

521 the Group insurance premiums can very each year because
A. The age of the group members will change every year.
B. The actual claim experience of the group during previous year will also affect the future
premium.
C. Entrance of new members in the group or exit of old members from the group may also effect
the premium.
D. All of the above

522 which of the following statement is/are true.
Statement 1: to be eligible for Group Insurance the group should have been formed with any purpose
except from the objective of being eligible for low cost Group Insurance
Statement 2: In Group Insurance, there should be some party other than the insured members to pay a
portion of the cost.

A. Statement 1is True

B. Statement 2 is True

C. Both the statements are true

D. Both the statements are False

523 The maximum amount of maternity benefit available under a group mediclaim policy is.............
A. Rs. 50,000

B. Rs.25,000

C. Rs. 30,0000

D.Rs 1 Lac

524 Statement which of the following statement is true:

Statement 1: Renewal premium under a group medical policy is subject to Bonus/Malus clause.
Statement 2: The renewal premium is a group medical policy remains the same if there is no change in
the strength of the group.

A. Statement 1 is true

B. Statement 2 is true

C. Both the statements are false

D. Both the statements are true
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525 Maternity benefit is payable in a Group Health Insurance Plans only for........... number of children
per insured person.

A2
B.3
C.1

D. Not defined in rules

526 The term, Experience rating, in group insurance means
A. Appointing an experienced underwriter
B. Premium rating to be done by an experienced person

C. Each year premium is fixed as per groups last year claim and expenses experience
D. None of the above

527 experience rating is only available in insurance, whereas in insurance the
premium is

A. Individual/Group/Level

B. Group/Individual/Level

C. Group/Individual/Level

D. Individual/Group/Stepped
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Answer Sheet Unit-2

120 | B | 160 | C | 200 | D | 240 | D | 280 C
121 |B | 161 |B | 201 | A | 241 | A | 281 D
122 | C | 162 | C | 202 | A | 242 | C | 282 B
123 | B | 163 | D | 203 | C | 243 | B | 283 B
124 | C | 164 | C | 204 | C | 244 | A | 284 B
125| D | 165 | C | 205 | A | 245 | D | 285 C
126 | D | 166 | B | 206 | B | 246 | B | 286 B
127 |B | 167 | A | 207 | C | 247 | B | 287 C
128 | B | 168 | C | 208 | D | 248 | A | 288 C
129 |D | 169 | A | 209 | B | 249 | A | 289 D
130 | C | 170 |B | 210 | D | 250 | A | 290 D
131 |D| 171 |D| 211 | D | 251 |B | 291 D
132 | B | 172 | D | 212 | D | 252 | A | 292 C
133|B| 173 | D | 213 | C | 253 | B | 293 D
134 |D | 174 |D | 214 | A | 254 | B | 294 C
135 C|175|B | 215 | C | 255 | D | 295 B
136 |B | 176 | A | 216 | A | 256 | D | 296 D
137 |B | 177 | D | 217 | D | 257 | C | 297 D
138 | D| 178 |D | 218 | A | 258 | B | 298 A
139 |D| 179 |A | 219 | C | 259 | C | 299 C
140 | C | 180 | D | 220 | A | 260 | A | 300 B
141 |D | 181 | A | 221 |D | 261 | A | 301 B
142 | A | 182 | D | 222 | D | 262 | C | 302 A
143 | B|183 | D | 223 | D|263|B |303() |B
144 | A | 184 |A | 224 | D | 264 |B |303(ll) |C
145 | D | 185 | D | 225 | A | 265 | D | 303 () | B
146 |A | 186 | B | 226 |C | 266 | C | 303 (V) | D
147 |D | 187 | C | 227 |A | 267 |D|303(V) |A
148 | A | 188 | A | 228 | D | 268 | D | 303 (V) |B
149 | D| 189 |B | 229 |B | 269 | B | 304 D
150 | A| 190 | A | 230 | A | 270 | B | 305 A
151 |A|191 |D| 231 |B | 271 | D | 306 A
152 |D | 192 |D | 232 | C | 272 | D | 307 A
153 | B | 193 |C | 233 |B | 273 | A | 308 A
154 | B | 194 |B | 234 |D | 274 | B | 309 D
155 | A| 195 | A | 235 | A | 275 | A | 310 B
156 | A | 196 |B | 236 | C | 276 | C | 311 C
157 | A| 197 |A | 237 |D | 277 | C| 312 A
158 | D | 198 | C | 238 | C | 278 | B | 313 C
150 |D[199|C|[239|B|279 | A | 314 D
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Answer Sheet Unit-2
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Unit 3
Retirement Planning and Strategies

528 A person who wants his savings of Rs. 10 lakh to last for 10 years when the earning rate is 5% would get

Rs. 100000 pa
Rs. 105000 pa
Rs. 129504 pa
Rs. 134789 pa

ooy

529The risk of investing in a sectoral scheme is
A. Industry risk
B. Interest rate risk
C. Foreign exchange risk
D. Liquidity risk

530If a mutual fund scheme has invested in only a single stock then the risk here is that of
A. Political risk
B. Company risk
C. Interest rate risk
D. Foreign exchange risk

531 Equities are usually meant for investments in young age because
A. Time available
B. Risk taking ability
C. Nature of investment
D. All of the above

532 The new theory says that there should be a small presence of in the portfolio even at old age.
A. Real estate
B. Bond
C. Equity
D. Government securities

533 After retirement the earnings of the individuals always increase.
A. True because retirement money is received
B. True because expenses go down
C. False because there is a drop in earnings due to stoppage of regular income
D. False because there is not additional activity for earnings

534 Additional activities after retirement can also contribute to
A. Income of the individual
B. Educational qualifications
C. Technical qualifications
D. Build up of experience for next job

535Equity investment is characterized by the following:
A. High return
B. High risk
C. Demat trading
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605If you want to know how much a certain sum will grow in the next 15 years you need to find this out using
the :

a) Present value

b) Future value

c) Payment

d) None of the above

606 If you want to know how much a certain sum will grow in the next 15 years you need to find this out using
the .

A. Present value

B. Future value

C. Payment

D. None of the above

607 If you want to find out how much a certain sum will generate regularly during the period of retirement you
need to find out the formula in excel.

A. Present value (PV)

B. Future value (FV)

C. Payment (PMT)

D. None of the above

608 The reason why there might be a gap between requirement and reality is .
A. Larger requirement for enjoying goods and services
B. Change in requirement
C. Disruption of income
D. All of the above

609 The first step in determining the gap between requirement and reality is to
A. Monitor the progress
B. Check the resources available with the individual
C. Make the necessary changes
D. List out the changes that will occur in the next year

610 Requirement — Available resource =
Overall demand

Available funds

Additional requirement

All of the above

oo

611 You are examining whether your savings will be adequate to meet your retirement needs. You saved
Rs.1500 last year, and you expect your annual savings to grow 5% a year for the next 14 years. If you can
invest your money at 8%, how much would you expect to have at the end of the fourteenth year from now?

A. Rs. 62950

B. Rs. 15069

C. Rs. 54662

D. None of the above

612. There is a need to ensure that a sum of Rs. 10 lakh is available on a certain day after a year. There is no
problem of accumulating the required funds. What is the most appropriate investment that will be witnessed
for such an event :

A. 30% direct equity, 50% equity mutual funds, 20% debt

Roots Institute of Financial Markets
1197 NHBC Mahavir Dal Road. Panipat. 132103 Haryana.
Ph.99961-55000, 99964-55055 email: info@rifmindia.com

RIFM Web: www.rifmindia.com and www.rifm.in
Strong Roots Wide Reach




B. 5% direct equity, 5 % equity mutual funds, 90% debt
C. 15% direct equity, 5 % equity mutual funds, 80% gold
D. 20% direct equity, 20% equity mutual funds, 60% debt

613 There is a need to ensure that at the end of five years there is a protection of capital however, there
should also be a chance of earning a slightly higher rate of return. The portfolio that will most likely be adopted
in such a situation is .

A. 30% direct equity, 50% equity mutual funds, 20% debt

B. 10% direct equity, 10 % equity mutual funds, 80% debt

C. 15% direct equity, 5 % equity mutual funds, 80% gold

D. 20% direct equity, 20% equity mutual funds, 60% debt

614 There is an investment that is bought for a price of Rs. 450. The past analysis shows that the investment
moves within a range of 20% during a particular year. What is the extent of losses possible for an investor
when a sum of Rs. 90000 is invested

A. Rs. 9000

B. Rs. 18000

C. Rs. 27000

D. Rs. 36000

677 A sum of Rs.75000 each year for a period of 9 years at a rate of 9% will create a corpus of
A. Rs 768978
B. Rs 865764
C. Rs 976577
D. Rs 987546

678 An investment of Rs. 3 lakh each year at an earnings rate of 5% for 10 years will give
A. Rs. 3065758
B. Rs. 3365758
C. Rs. 3675454
D. Rs. 3773367

679 Investment of Rs. 25000 a month at an earnings rate of 5% for 10 years will give

A. Rs. 3365758
B. Rs. 3675454
C. Rs. 3773367
D. Rs. 3882056

680 Will a sum of Rs. 12000 a month saved for 5 years at 10% bridge a gap of Rs. 10 lakh?
A. Yes
B. No
C. It will exactly be the same
D. None of the above

681 An individual has a corpus of Rs.15 lakh available at the time of retirement earning 6%. If Rs.175000 is
spent each year then the corpus will last for full

10 years

11 years

12 years

13 years

oo
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682 If the gross earnings rate is 12% while the inflation is 6% the real rate of return is

A. 5.66%
B. 5.86%
C. 5.96%
D. 6.00%

683 When the earnings rate is 10% and the inflation rate is 4% the real rate of return for the investor is

A. 5.66%
B. 5.76%
C. 5.86%
D. 5.96%

773 The term of a Post office Monthly income scheme is years.

A. 8years
B. 10 years
C. 6years
D. 20 years

774 Minimum investment of national saving Certificate is required at the time of opening is

A. Rs. 500
B. Rs. 100
C. Rs. 1000
D. Rs. 1500

775 NRI can open a Senior Citizen Saving Scheme account.

True

False

Partly True
Partly False

ooy

776 A Kisan Vikas Patra can be issued in the denomination of

Rs. 100

Rs. 50000

Rs. 1000

All of the above

oo

777 What is the maximum limit one can invest in Kisan Vikas Patra?

A. Rs. 5,000

B. Rs. 10,000

C. There is no limit
D. None of the above

778 What is the maximum amount one can deposit in a Senior Citizen Savings Scheme account under single

ownership?
A. Rs. 5,00,000
B. Rs. 15,00,000
C. Rs. 10,00,000
D. Rs. 20,00,000

779 A senior citizen savings account can be opened by
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A. Individual

B. Jointly with spouse
C. NRI

D. BothA&B

780 Deposits under National Saving Certificate are exempted from wealth tax.
A. Yes

B. No
C. Partly
D. None of the above

781 Which of the following cannot purchase National Saving Certification?
1. NRI 2. HUF3, Trust 4. Company

A. 2and 3

B. 1and?2

C. 1,23 and 4

D. 3,2,and 4

782 Monthly Income Scheme can be opened through a guardian on behalf of a Minor or a person of unsound
mind. The above statement is

A. True
B. False
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Answer sheet unit 3
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Answer sheet unit 3

750 |C | 785 | A 820 | B |855|D[890|B|925|B |90 C

751D | 786 | B 821 | C |85 |B[891|D|926 | B |961 B

752 |A | 787 |B 822 | B | 857 |B[892|D|927 | C|962 B

753 | A | 788 | A[823 | C|858|C|893|C|928 | B|963 | A

754 |B | 789 | A | 824 |A|859 | A[894 D929 | D |94 B

755 | B | 790 | D825 |C | 860 | B [895|C|930 | A |95 | D

756 |D | 791 | B|826 | D|861|B |89 | C|931 | A|966|D

757 | D792 | D827 |D|862|C[897 |A|932 | D |97 |B

758 |C | 793 |A[828 | C | 863 | D 898 | D|933 | B|968 | B

759 |B 794 | C 829 |C | 864 |B[899|A[934 B |99 |C

760 | C | 795 B 830 | D|865|A[900]|A|935|C|970|C

761 | C | 796 |B|[831 | D|866|C|901|D|936|A|971|B

762 | C | 797 | C 832 |C|867|C[902|B|937 | B|972 | B

763 | B | 798 | D833 |C|868|B[903|C|938 | D|973|C

764 | C | 799 C 834D |89 |D[94 | A[939|A|974|C

765 | B |800 | C|835|C|870|A[905|B|940|D|975|D

766 | A 801 | B |[836|D|871 | B|[906|A[941|C|976 | A

767 |E 802 | C|837|C|872|C[907 | C|942|C|977|C

768 | B | 803 | C 838 |B|[873|C[908|D|943 | B|978 | B

769 |A | 804 | A 839 | D |874[C[909[C|944 B |979 A

770 | B|805|D|840 | C | 875 |A[910 | D[945|C|980 | A

771 C | 806 | B |841 | C |876|D[911 | D|[946 B |981 | A

772 | B | 807 | B |842 | C | 877 | D[912 | B |[947|C|982 | A

773 C | 808 | B[843 | C |878 | C|[913|A[948 | C|983 | A

774 1B [809 | C|844 |C | 879 | A[914|A[949 B | 984 | B

775|B (810D |845|C 880 |C|915 | A 950 | D |985|C

776 | D811 | D | 846 |A | 881 |C[916 | B|951 | A|986 | D

7771 C 812 | D |847 | A | 882 | A 917 | A|952 D |987 A

778 | B 813 | A 848 | C | 883 |A[918 | A|953 | A|988 | D

779 D [814 | C 849 |B 884 |B[919 | D|[954 | D|989 | A

780 | A|815|C|850|B|[885|B|920 | A 955 |D|990 |D

781 C 816 | C 851 | D |886|A[921 | B|956 | B|991 B

782 | A|817|C|852|B 887 |A 922 |D|957|C|992|D

783 | A 818 | C|853|B 888 |B[923|C [958 |C|993|D
784 |A 819 | A 854 | C 889 |A[924|C|959 | C
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Unit 4

Pension Sector Reforms

994 Pension Fund Regulatory and Development Authority (PFRDA) was established on..............
A. 24th March 2000
B. 24th September 2002
C. 23rd August 2003
D. 20th August 2003

995 SEWA stands for..............
A. Self Employed Women Academy
B. Self Employment Women Association
C. Self Employed Women Association
D. Self Employed Women Authority

996 Trade Committee of SEWA consists of .............. Members.
A. 10 to 30 members
B. 15 to 50 members
C. 12 to 35 members
D. 10 to 20 members.

997After every 3 years the Trade council of SEWA elects an executive Committee of 25 members.
A. True
B. False

998 SEWA movement is enhanced by...............
A. Cooperative movement
B. Labour movement
C. Women’s movement
D. All of the above

999 Which of the following is/are deficiency of current pension scheme?
Investment options are restricted.

Very low pension coverage.

Existing pension schemes are inadequately funded.

All of the above.

oo

1000 In pension reforms, CRA stands for................
A. Central Record Keeping Agency
B. Central Record Authority.
C. Central Record Authority.
D. Common Record Authority.

1001 PFRDA stands for.................

Pension Fund Regional Development Authority.
Personal Fund Regional Development Authority.
Pension Fund Regulatory and Development Authority.
Private Fund Regulatory Development Authority.

Cow>
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1002 In pension reforms, PFM stands for............
A. Pension Finance Manager.
B. Pension Fund Manager
C. Personal Fund Manager.
D. Personal Finance Manager

1030 Which of the following is/are the feature of OASIS?
A. Widespread accessibility.
B. Privately manager individual accounts
C. Both A& B
D. None of the above

1031 The Chilean model pension scheme was introduced in .............
A. 1980
B. 1999
C. 1981
D. 1986

1032 The role of Central Record Keeping Authority is to deliver regular monthly pension. The above statement
[

A. True

B. False

1033 Which of the following are the features of Chilean Model?

Participation is compulsory for all workers also old workers

The workers have to make a fixed contribution of their taxable salary.
The tax benefits are available.

All of the above

ooy

Roots Institute of Financial Markets
1197 NHBC Mahavir Dal Road. Panipat. 132103 Haryana.
Ph.99961-55000, 99964-55055 email: info@rifmindia.com

RIFM Web: www.rifmindia.com and www.rifm.in
Strang Roots Wide Reach




Answer Sheet Unit-4

994 | C | 1006 | C|1018 | B | 1030 |C
995 |C 1007 |C|1019 B 1031 |C
996 | B |1008 | D |1020 | D | 1032 | B
997 |A 1009 | D|1021 | B |1033|D
998 | D |1010 | C|1022 | C
999 |D|1011 | A 1023 |C
1000 | A | 1012 | B | 1024 | D
1001 |[C | 1013 | B [ 1025 | B
1002 | B [ 1014 | B | 1026 | C
1003 | D | 1015 | B | 1027 | D
1004 | A | 1016 | A | 1028 | D
1005 | B | 1017 | D | 1029 | D
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Sample Paper-1
One Mark
1. A person cannot modify the nomination in case of gratuity

False

True

Maybe

Not possible to answer

oo

2. Compensation received by a workman at the time of closing down of the undertaking in which he is
employed is classified as

A. Voluntary Retirement

B. Retrenchment Compensation
C. Workman’s fund

D. Real Compensation

3. An offence of moral turpitude can result in forfeiture of gratuity

A. False

B. True

C. Maybe

D. Not Possible to answer

4. Married children of an employee constitute family under the Payment of Gratuity Act

A. True as this is part of the definition

B. True because married children are always family
C. False as this is not part of the definition

D. False because married children are never family

5. cannot opens a new PPF account today

A. HUF

B. Individual

C. Minor

D. None of the above

6. An investment in the PPF account can be made through____

A. Cash

B. Cheque

C. Draft

D. All of the above

7. A workman has been in continuous service for 3 years. In this case, reasons have to be given for the
retrenchment

No

Yes

In some cases
Never

COow>
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8. The maximum benefit available for investment in PPF under Section 80C of the Income tax is

Rs.60000
Rs.70000
Rs.75000
Rs.100000

COow>

Two Marks
1. What is the corpus required to earn Rs.3.4 lakh a year at a rate of 8% per annum?

Rs.4250000
Rs.425000

Rs.4500000
Rs.4500000

oow>

2. A person wants to know whether a sum of Rs.12 lakh today will be more than Rs.64 lakh after 12 years
given an earning rate of 9%

A. No

B. Yes

C. Always

D. None of the above

3. Nitin wants his Rs.50, 000 to grow to Rs.200, 000 at the end of 15 years. What is the earning that is required
achieving this figure?

A. 9.58%
B. 9.68%
C. 9.78%
D. 9.88%

4. If a person invests Rs.5, 000 at the end of each year, then after 10 years the figure earning at a rate of 6%
p.a. will become

A. Rs.66904
B. Rs.65409
C. Rs.65904
D. Rs.66409

5. Ankit has received gratuity of Rs.75000 in the year 2000.In the year 2006,he received an additional gratuity
of Rs.300000.The amount exempt from tax will be

Rs.275000
Rs.75000

Rs.300000
Rs.350000

oo

6. A person has a basic salary of Rs.35000 per month and there is a provident fund deduction of 10%.How
much will be the tax benefit available for the individual?

A. Rs.3500
B. Rs.35000
C. Rs.38000
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D. Rs.42000
Four Marks

1. There are various expenses incurred by a person in the normal day to day life. This includes expenses on
running the housing of Rs.35000 per month, medical expenses of Rs.15000 per month for the aged parents,
other miscellaneous expenses of Rs.12000 per month. If the running expenses will come to Rs.20000 per
month and the medical expenses increase to 20000 with other things the same, what is the replacement
percentage?

A. 62%
B. 73%
C. 84%
D. 95%

2. A person saves Rs.25000 each year. If the earning rate is 5% for the first 10 years and then moves to 7%
for the next 10 years, will the amount accumulated be enough to collect a sum of Rs.15 lakh on retirement that
is, at the end of 20 years?

A. Yes

B. No

C. Data insufficient
D. Do not know

3. Lalit wants to save Rs.3 lakh each year till retirement which is 17 years away. The earnings rate rises to 6%
from the first year from the 5% earlier. By how much can Lalit prepone his retirement?

1 Years
2 years
3 years
10 years

oo

4. Amit expects to spend Rs.3 lakh a year for 15 years after retirement. The applicable rate at that point is
expected to be 6%.He wants to set aside a sum of Rs.10 lakh for his grandchild. What is the retirement corpus
that he is looking at?

A. Rs.3330567
B. Rs.3330939
C. Rs.3356987
D. Rs.3356746

5. Savita spends Rs.15, 000 per month on various household expenses. The figure is expected to increase by
3% for the next 12 years and 7% thereafter. What will be the monthly expense in 15 years?

Rs.25199
Rs.25919
Rs.26919
Rs.26199

oo
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Sample Paper-1

One

Mark | Two

Mark

Four

Mark

Question

Answer | Question

Answer

Question | Answer
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Sample Paper-2
One Mark

2. Mr. Ankit is divorced and later remarries. His former wife is his EPF beneficiary but in his current Will, he
leaves everything to his present wife. Who will get his EPF proceeds should he die now?

A. Former wife

B. Present wife

C. Each gets half

D. The court has to decide

3. Which one of the following is most likely to cause firms to decrease the amount of investment they
undertake?

A. Afallin interest rates

B. Arise in expected consumer demand
C. Afallin business confidence

D. A fall in company taxation

4. Which one of the following would best indicate economic growth? An index of..............

Share prices

Real national output
Export volumes
Manufacturing output

ooy

5. Which of the following rules can be used to roughly estimate how many years a given sum of money must
earn at a given compound annual interest rate in order to double that initial amount?

Rule 415
The Rule of 72
The Rule of 78
Rule 144

oo

6. What is the upper limit of investment in NSC?

A. Rs. 50000
B. Rs. 100000
C. Rs. 150000
D. No limit

7. Mr. Nitin who is an NRI wants to open an account under SCSS scheme. What can u suggest him?
A. He can’'t open the account
B. He can open an account
C. He can open an account with some restrictions
D. None of the above

8. The variation of return from expected rate of returnis called............................
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Investment risk
Business risk
Market risk
None of these

oo

Two Mark
1. The Employees Provident Funds and Miscellaneous Provisions Act, 1952 extends to

A. All States excluding Union Territories

B. A few specified states of India

C. Whole of India

D. Whole of India except the State of Jammu and Kashmir

2. Which of the following statements is correct?

Statement 1. Under the Payment of Gratuity Act, if an employee has a family at the time of making a
nomination, any nomination made by such employee in favour of a person who is not a member of his family
shall be void.

Statement 2: Under the Payment of Gratuity Act, if an employee has no family at the time of making a
nomination, any nomination made by such employee in favour of a person who is not a member of his family
shall be void.

A. Only statement |

B. Only statement Il

C. Both the statements

D. None of the statements

3. Which of the following statement is/are true?

Statement 1. Leave salary paid by an employer to his employees is a statutory benefit available to all
employees working in an organization employing 10 or more employees

Statement 2: Gratuity is a statutory benefit available to an employee under” The Payment of Gratuity Act,1972.

A. Statement |

B. Statement |

C. Both Statement | and Il
D. Neither Statement | nor I

4. If an investment product promises a rate of 9% p.a. compounded half yearly, calculate the rate per half year
compounded monthly?

A. 4.50%
B. 4.41%
C. 4.33%
D. 4.22%

5. The amount of advanced for illness from the PF shall not exceed the member's own contribution with
interest in the fund or

A. 24 months’ salary (Basic + DA) of the member
B. 6 months’ salary (Basic + DA) of the member
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C. 36 months’ salary (Basic + DA) of the member
D. 12 months’ salary (Basic + DA) of the member

6. To avail advance from PF for the member’s own marriage, the marriage of his or her daughter, son, sister or
brother or for the post matriculation education of his or her son or daughter, the member should have
completed

A. 2 years’ membership
B. 10 years’ membership
C. 5 years’ membership
D. 7 years’ membership

Four Mark

1. A person saves Rs.1 lakh each year. His current age is 55 and there is an accumulation of Rs.34 lakh with
him next time.

I.  What will be the amount available if he retires at 58?Earnings rate is 5%
A. Rs.4266938
B. Rs.4626938
C. Rs.4269638
D. Rs.4268938
IIl.  How would the situation change if he puts back his retirement by 2 years?
A. Rs.4199549
B. Rs.4919549
C. Rs.4915949
D. Rs.4951949

2. Mr. Sharma aged 30 years is saving for the last 3 years in a saving account giving 3.5% per year
compounded semi annually. He is in habit of increasing the amount by a fixed Rs.2500/- every half year. If he
deposits Rs.25000 after fifth installment, what corpus he will accumulate at the age of 60 if the rate of inflation
is 7%.

A. Rs.9591342
B. Rs.4591342
C. Rs.3591342
D. Rs.2591342

3. Which of the following statement are true?
Statement 1: Public Provident Fund account cannot be extended after 15 years

Statement 2: Public Provident Fund account can be extended after 15 years for one or more blocks of five year
within one year from the date of maturity of the account.

A. Statement lonly

B. Statement 2 only

C. Both the Statements
D. None of the statements

4. Which of the following statements are true?

Statement 1: Joint account can be opened with the spouse only under the Senior Citizen’s Saving Scheme.
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Statement 2: Joint account can be opened with any person under the Senior Citizen’s Saving Scheme.

A. Statement 1 only

B. Statement 2 only

C. Both the Statements

D. None of the Statements

5. XYZ Ltd. Is offering to its investors a 2 year deposit bearing an interest rate of 6% p.a.compounded
guarterly. Calculate the effective rate of interest that is made available on this deposit?

A. 12.00%
B. 6.31%
C. 6.13%
D. None of the above
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Important Questions

10) Sabhil, age 43, can refinance Rs. 114042 at a 20-year rate for 7% and will incur closing cost of 3% of the
mortgage amount to be financed in the new mortgage balance. What will be his new EMI on the mortgage
under the circumstances to achieve his objective of no debt at retirement (age 60)? (2)

A) Rs. 781.49

B) Rs. 957.56

C) Rs. 980.57

D) Rs. 986.29

Solution (D)

11) If the inflation rate is 4.9% and tax rate is 30% the required rate of return to maintain the value of an
investment is
. (2)
A) 8%
B) 9%
C) 7%
D) 10%
Solution (C)

12) An auditor of an Exempted Provident Fund can be: (2)

A) A member of FPSB India

B) A practicing Chartered Accountant

C) An employee of the Employee Provident Fund Organisation

D) The auditor of the company, which is having the exempted provident fund
Solution (D)

13) Mira, aged 30, is interested in planning for retirement. She saves Rs. 15000 per year (at the year end) in a
bank fixed deposit earning 8.25% p.a. compounded annually until she retires at age 58. Her life expectancy is
80 years. What will be her corpus on the date of retirement? What is the fixed annual amount she can withdraw
at the beginning of each year until age 80, in case she wishes to exhaust her corpus completely? (4)

A) Rs. 1348974, Rs. 87498

B) Rs. 1424894, Rs. 89458

C) Rs. 1491655, Rs. 137767

D) Rs. 1491655, Rs. 91613

Solution (C)

14) Ms. Rekha is 45 years old and plans to retire at 50. Her life expectancy is 70 years. Ms. Sushma, her
Financial Planner, estimates that her client will require Rs. 45000 in the first month after retirement. Inflation
rate is 4% p.a. and the rate of return is 6% p.a. What will be the savings required by her at the beginning of
every year in order to meet this? (4)

A) Rs. 1245879

B) Rs. 1478951

C) Rs. 1501856

D) Rs. 1689745

Solution (C)

15) Mr. Ramesh retired from PTC Ltd after completing service of 29 years and 9 months. His salary at the time
of retirement was Rs. 10500 per month while the average salary drawn for the preceding 10 months worked
out to Rs 9800 per month. The actual amount of gratuity received by him at the time of retirement was Rs
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325000. Calculate the amount of gratuity exempt from tax assuming he is not covered under provisions of
Payment of Gratuity Act, 19727 (4)

A) Rs. 182900

B) Rs. 175673

C) Rs. 294000

D) Rs. 315000

Solution (A)

16) Mr. Thapar has just retired from Government service with a lump sum of Rs. 2585650 as retirement
benefits in total.

Currently he is 59 and life expectancy for him is 76 years. He intends to take a world trip after 4 years, which
would cost Rs 4 lakh now and wants to buy a new car of Rs 3 lakh immediately. Calculate what amount will be
available to him for post retirement living expenses in the beginning of every month, considering inflation @
4.25 % and rate of return to be 7.5 % p.a? (4)

A) Rs 11889

B) Rs 12999

C) Rs 16678

D) Rs 12486

Solution (C)
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Roots Institute of Financial Markets(RIFM)

s"'“nn Roots Wide Reach

“Every effort has been made to avoid any errors or omission in this book. In spite of this error may creep in.
Any mistake, error or discrepancy noted may be brought to our notice, which, shall be taken care of in the
next printing. It is notified that neither the publisher nor the author or seller will be responsible for any
damage or loss of action to anyone of any kind, in any manner, therefrom.

ROOTS Institute of Financial Markets, its directors, author(s), or any other persons involved in the preparation
of this publication expressly disclaim all and any contractual, tortuous, or other form of liability to any person
(purchaser of this publication or not) in respect of the publication and any consequences arising from its use,
including any omission made, by any person in reliance upon the whole or any part of the contents of this
publication.

No person should act on the basis of the material contained in the publication without considering and taking
professional advice.
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NISM Modules Practice Books (about 500 Questions per Module)
Cost Rs. 600 Per Module
1. MUTUAL FUND DISTRIBUTORS CERTIFICATION EXAMINATION

2. CURRENCY DERIVATIVES CERTIFICATION EXAMINATION

CFP Certification Modules ---Study Notes (Detailed Study notes as per FPSB
syllabus) Cost Rs. 1000 Per Module
INTRODUCTION TO FINANCIAL PLANNING

INVESTMENT PLANNING

RISK ANALYSIS OF FINANCIAL PLANNING
. RETIREMENT PLANNING

. TAX PLANNING

i e

1 11

Roots Institute of Financial Markets

1197 NHBC Mahavir Dal Road. Panipat. 132103 Haryana.
Ph.99961-55000, 99964-55055 email: info@rifmindia.com
Web: www.rifmindia.com and www.rifm.in



http://nseindia.com/content/ncfm/ncfm_nism_modules.htm#5
http://nseindia.com/content/ncfm/ncfm_nism_modules.htm#1

